T OE R
S=1:500

YY-47" nyHFRA=17. 9m
Kifavh)-b=6.5m £
| — 7%

RN E X

$=1:50

avyY-+7° 0yyFE ($2IE35cm)

EETETEMN

DY IVERER S

aVHY)-+7" nyhiERE R

#i£S=1:25
1#8=1:50

No. 0

-7 nyhE A=17.9m2
Kivy!)-+=6. 5m

No. 0+6.5

HR{$ TA=3. 9m2

MELEAY-b (1) N1Z
300, 6500

MALEY-b (2) N=1E
,300 2000

RE il |
A 0.56 | m2 a4 nhER m &
D 21 Tm BEE%VYY-47" nyhER m
WEC (1) [ 0.41 [m | _/
WEL () [0.23 | m
HEhwme | 23 [ o \_vlo.22 _vid.29
=E 2.2 | m HEL (1)
AL (REL) AL
3| s
g S
8 g g 8
& iy S )
= o (=3
S 8
.I.|
! 5
S SN —
R 2 :
g 3, <
TEE : 3
3 g y - ‘A £ 480 EE [T \M m
HETHEX avHY-+7T Ny HFRIEHEE] |
$=1:20 $=1:50 T 00 T
avhY-+7° ayHh¥E (3E/E35cm)
SERIT vy, YR ES UY-k7" yh 3R L=6. 5m
BR5ACo 0. 18m3/m2. 18-8-25BB
1417~ X () AIESL
18-8-25BB
? . -
wHY-+7 ovhiE EHEEEE
- sL sL i il S
2710 2790 6500 6500 | 17.88m2
&5 | 17.0m2
Z|iAM (BHRA) FrEE
VY- 147" Dy BRE h =] ED | EE AR
T8-8-4088
1970 365 365
. w 2040 365 365 6500 | 4.76m2
MOakavy)-+ (1) MOukavy)-+ (2) =47 Ry EEE KigavhY -+ —
S=1:50 S=1:50 S=1:20 S=1:20 &Et 4. 8m2
I?EQI 835 300 835 Wit T 2y
(| 2 7 B |BE|mE] BE
] I ) 23 m2_|1.00
BR3ATSYY-F 18-8-25BB m3 |0.12
-t
\ 18-8-2588
.ﬁ.
\\ 9 H
o
2 \ \ \ vyt =
< 2 \ \ 18-8-40BB
= o
N 8
8
g
2
4
Y-t #La)- | | | |
18-8-40BB -t Wt 18-8-40BB 100 530 100
L1 | 18-8-4088 A 18-8.4088
VUUES e —1 .
L X C OEFEIAIHI EETETD
I 5 % SMAEELEHE 245
RRETE A R E R RE T
/haakavy)-+ A) D) AaakEavy)-t (2) 10%HY Y- Ry ERE MER 1ons Y Kimav)-t BER 1on Y 3 —
R | s |mm| ®m = m o= % m e | m = m = & B ([EE[EE] = & T W ([EG[ME] W B BT A HRRALLELA
9K 18-8-4088 | m3 |0.94 WI-F 1882588 | m3 |0.75 - — -
avsy—k  |18-8-408B m? 7.34 avsy—k  |18-8-408B m 7.52 T R T o130 R i?fffﬁffggg TE
EnE m? |  42.83 e m? 68.88 I 1884088 | m3 |0.73 B EREEWE t-1on| m2 [0.08 R
z S LI m2_|2.00 @ R 2r |maEss "
EmEE u 239 LERE ul 2.39 EEX BEREALE 1o | n2 [0.09
EEEE w2 |7.30
BEFRA ETEERMELIEEHR




